QP CODE : 28973
(3 hours) [Total marks: 100

N.B. 1. Attempt any FOUR questions

2. All questions carry equal marks

1. Answer the following

a. Discuss expansionary monetary policy in the context of IS-LM model
b. What is "crowding out" ?

2. Write notes on any two

a. Permanent income hypothesis

b. Tobin’s portfolio theory

c. Life cycle hypothesis

3. Write notes on each of the following
a.Deficits and inflation

b. Short run Phillips curve

4. What do you mean by automatic adjustment? Explain the concept of exchange rate overshooting
5. Write notes on any two

a. Efficiency wage model

b. Price rigidity

c. rules versus discretion

6. Write notes on any two:

a. Fiscal adjustments

b. Uncovered interest parity

c. Implicit contracts

7. Write notes on any two:

a. Endogenous growth theory

b. The Lucas critique

c. Phillips curve in the long run
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